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1. N8 W H A ¥ TwA 200% T Gia | L.

W HHAT R ?
(1) e (2) vuifeTeex
8) 2w (4) WA
(6) TgaRa ’ |
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@ s % fore
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@) Fiv e e oy
@) il iy ods -1t
e e
(4) iii it aw

1m i
(5) oTgaRa s
3. uwww sus W T oae % g | 8
(1) 40/60 (2) 50/50
(8) 60/40 (4) 65/35
(5) 3rgaRa I ‘

4. “T SIS F AN HI e ® foT€ ITIRT 6
ST et O geredl Rrems fred e i
e BIS! A R, T FHEA B ?

(1) wfeen 2 feufes
8) IMedsfem (4) Fmfafes
(5) ITFTRG S

4,

T — T WA—— —S———— TA—— - T —TT—— Tri——

o
N

Which fibre has 200%
stretchability before they break ?

(1) Nylon (2) Polyester
(3) Spandex (4) Rayon
(5) Question not attempted

- Match the pattern making tool

with its uses :

Pattern Uses
Making
Tool
A. Leg 1. To mark straight
curve line to measure
B. French ii. Draw curved lines
curve for women wear

C. Grading iii. Draw curved lines

Ruler for men wear
D. Hip iv. Draw curved lines
curve of arm holes &

necklines for
women wear

il St GRS )
(1) mpekitis; ii
(2), dansaive e ii
(3] h T s
(8L ) | e e
(5) Question not attempted

For medium worsteds, terry wool
suiting fabrics, the ratio of
polyester and wool is
(1) 40/60 (2) 50/50
(3) 60/40 (4) 65/35
(6) Question not attempted
A decorative stitch used to join two
fabric sections leaving a space in
between is called
(1) Basting
(2) Whipstitch
(3) Overhand stitch
(4) Fagoting stitch
(5) Question not attempted
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fR i w2 ¢

(1) Tt (2) wgHE

3) seAfigm  (4) wufEH
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(1) iy (2) 9rHd
3) TgHA (4) omEE
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w it gt @ e nfafafy =1 @
e g R ST 8 7
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8.

=

The twisting process by which
fibres are formed into a yarn is
called :
(1) Braiding
(8) Weaving
(5)

(2) Spinning
(4) Knotting
Question not attempted

Which type of yarn is used in
handloom weave ?

(1) Pirn (2) Ring Bobbin
(3) Hank (4) Cone
(5) Question not attempted

Who is considered amongst the
following as father of child study
movement ?

(1) Pestalozzi

(2) Tiedemann

gB) G. Stanley Hall

4) J.B. Watson

(5) Question not attempted

Which of the following disease does
not depend on heredity ?

(1) Colour blindness

(2) Diabetes

(3) Down’s Syndrome

(4) Tuberculosis

(5) Question not attempted

Which gland slowly starts to
decrease in size after puberty ?

(1) Pituitary (2) Thymous

(3) Adrenal (4) Thyroid

(5) Question not attempted

Measurement of visual activity
from a fixed distance is done by :
(1) Orgchart

(2) Ishihara plates

(3) Gantt chart

(4) Snellen chart

(5) Question not attempted

‘Denier’ is related to

Yarn count

Yarn width

Yarn thickness

Yarn weight

Question not attempted
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12.

13.

14.

15.

16.

17.
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T T TgAd ] 7 _

(1) SvEEen  (2) o e
(3) T AT (4) I TTITALAT

(5) g S
w1e % fop % fom @il 1 SwTa

ITER AR |

(1) vHagd 3@y (2) w=9=
3) TriwEen (@) IgEEn

(6 FFART I

WU TRy W Sqd s d
foramT=IaT 1 R 9 &, 1 FEan & ?
(1) wwH @ e

3) e (4) =g

(5) SigaRa s

TE: oY SRR Iiued R
6 3y F yrE A E |

(1) 10-129¥ (2) 14-1599
3) 20-21a8 (4) 30-3199

(5) IrgTRa w¥H

gma: Ry veeht amfie geem e
AR ?
(1) wewdnd  (2) g@udad
(3 dREERT (1) QTEAH
(5) oTgaRa T

e &R
1) =3 e

2 fafseaam=

(3) wfea @ awa

(4) uitgeEar @ ufgeEar

(5) gaiRa ¥

B e e e e e e e e e s e

12.

13.

14.

15.

16.

[ary
e

At which stage of life the rate of
growth reaches a ‘Plateau stage’ ?
(1) Infancy

(2) Early childhood

(3) Middle childhood

(4) Late childhood

(6) Question not attempted

The hereditary gift of traits for
later development is fixed in —

(1) Prenatal period

(2) Childhood

(3) Adolescence

(4) Old age

(5) Question not attempted
Environmental agents that cause

deviations in prenatal children are
called

(1) Allergen
(3) Pathogen

(2) Teratogen
(4) Mutagen

- (6) Question not attempted

Generally, male gonads attain
mature size at of age.

(1) 10-12 years (2) 14-15 years

(3) 20-21years (4) 30-31 years

(5) Question not attempted

Generally, baby gives first social
smile at the age of

(1) First month

(2) Second month

(3) Third month

(4) Fourth month

(5) Question not attempted

Development proceeds from
(1) General to specific
(2) Specific to general
(8) Complex to simple
(4) Maturity to immaturity
(5) Question not attempted
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20.
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18.

21.
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4)

(2)
3

(C))

®)

18.

19.

20.

21.

22.

Which statement is not true about

special class  planning for

exceptional children ?

(1) Number of students between
8-10.

(2) Study time not more than
3 hours.

(8) It is more expensive than

other managements

(residential school).

It can be run successfully at

primary & secondary level.

Question not attempted

@

6))
The stage of prenatal development
from 9 weeks to birth is called as
(1) Embryonic period

(2) Foetal period

(8) Refractory period

(4) Germinal period

(5) Question not attempted

Development from head to toe in
the body is called —

(1) Cephalocaudal

(2) Vertical

(8) Proximodistal

(4) Cranial

(5) Question not attempted

is the molecule of heredity.
(1) RNA
(2) DNA
(3) Fertilized egg
(4) Chromosome
(5) Question not attempted

Ossification, or hardening of the
bones mainly
(1) Begins in prenatal and ends

in the early part of first year
(2) Begins in prenatal and ends
3)

during puberty.

Begins in the early part of
first year and ends during
babyhood

Begins in the early part of
first year and ends during
puberty.

Question not attempted
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23.

24.

25.

26.

27.

IR oTTett & fewe # wega gfemm feg
ferames gr feamman 2 2

IfHH — ‘Bl - YOS — GHd —
Tkt — TT=ied”

faemen

(1) 3 HAEA
(2) A SR ATeA

(3) <EmIHIsH
(4) <A AISA

(5) Tgaa y
I e &

(1) =Tt

(2) Ha@EE

(3) HaT3IHE

(4) T fai | amenfa
(5) ITFIa A

e frer Serew & |
(1) 3=Es fen
Q) Triu=ies fren
(3) 3= e
(4) g foen
(5) Tgaia weH

HIHA TS AR T IIH T R |
(1) wifRafa = faveo

(2) TuEn H IgEH

(8) TN T HURY

(4) et A Tl e

(5) 3TgeRa weA

TS 90T FEq &+ Jaiia wE

AR |

(1) wRerE $iY srgee aieg

(2) R e sgaaH Tl

(3) F= wm WRIfeR sEEEE
T

(4) T dor e =g

(5) 3TgAld g

S T — T — W —— TP—————. WA TP i Ty T — A TSRS LSS eSS e s

23.

24.

25.

27.

Which thinker has given the model
presented in ,this paradigm of
communication system ?

Paradigm — “Source — Transmitter
— Signal —  Receiver —
Destination”

Option :

(1) Aristotle model

(2) Shammon Weaver model

(3) Dahama model

(4) Lasswell model

(5) Question not attempted

Non-formal education is

(1) Flexible

(2) Authoritarian

(3) Classroom oriented

(4) Based on teacher interests
(5) Question not attempted

Adult education is example of
(1) Non-formal education
(2) Informal education

(3) Formal education

(4) Theoretical education

(5) Question not attempted

First step of programme planning
process is —

(1) Analysis of situation

(2) Identification of problem

(38) Collection of facts

(4) Developing plan of work

(5) Question not attempted

The National Institute of Nutrition

works under :
(1) - Indian Council of Agricultural

Research

(2) Indian Council of Medical
Research

(3) Central Food Technological
Research Institute

(4) National Nutrition Monitoring

Bureau
(5) Question not attempted
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29.

30.

31.
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(5) I S &

R foem & fau frem 2 |

(1) Tyafim frereat & et oo Sem
2) Frafia foemert § wedt <
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_ FfiumEmE?

(1) =afFTa gush 30.

(2) g T

(3) S EIH

(4) YBars naTia fafy
(5) 3FFRa A

yree “war Rren” =1 A ggelt IR 1873 | 31.

| o gr fopan T |
(1) Foe favatmme

) IHieaws favafame™
8) T

(4) 9. g

(5) ITTING A

. 3vafya gea wmf 2 | 32

A THEE B. WX

C. wisgH D. Iv HIEH
(1) AB,C@D(@Q) A BwWC
(8) A, BwWD (4 B,CwWD
(5) oTIRG T I~ |

Wﬁaﬁmmﬁ'ﬂamwis&

TR e T T 7 |
(1) 11976 (2) 1978

(3) 1988 (4) 1986 !
(5) I e =
7

29.

In 1961 in India Mid day meal
scheme for children of primary
school was started by

(1) WHO (2) UNICEF
(3) CARE (4) ICDS

(5) Question not attempted

fIjlxtension education is education

or — :

(1) Rural people outside regular
schools.

(2) Urban people inside regular
schools.

(3) Rural people inside regular
schools.

(4) Rural children inside regular
schools.

(5) Question not attempted

Television is an example of
teaching aid used for

(1) Individual contact

(2) Group contact

(3) Mass contact

(4) Inquiry based method

(5) Question not attempted

The term “Extension education”
was first used in 1873 by

(1) Cambridge University

(2) Ozxford University

(3) Leagans

(4) O.P. Dhamma

(5) Question not attempted

Non-projected visual Aids are :

A. Chalk board B. Poster

C. Slides D. Flash cards
(1) A, B,CandD

(2 A,BandC

(3) A, BandD

4 B,CandD

(5) Question not attempted

When was Integrated Rural

‘Development Programme started

in India 2
(1) 1976 (2) 1978
(3) 1988 (4) 1986

(5) Question not attempted
o
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35.

36.

@
o

34. Match List-I with List-IT by using

codes :
List-I " List-IT
A. Sorbitol i. Monosaccharides
B. Sucrose 1ii. Indigestible
Carbohydrate

C. Fructose iii. Disaccharides

D. Cellulose iv. Sugar alcohol
At iBre € D

i A R et ii

P e N e

(8)- Cayr gl e

(@) 54Tt e

(5) Question not attempted

Foods containing ingredients of
animal origin are displayed on the
label by
(1) Green dot encased in a brown
box
(2) Brown dot encased in a brown
box
(3) Green dot encased in a green
box
(4) IE)Brown dot encased in a green
ox
(5) Question not attempted

is a process that involves
soaking foods in a salt water
solution to preserve, seasoning and
improve the flavour and texture of
the food.
(1) Broiling (2) Blanching
(3) Syruping (4) Brining
(5) Question not attempted

Example of bactericidal method of

food preservation is —

(1) Pasteurization

(2) Freezing

(38) Filteration

(4) Pickeling

(5) Question not attempted
deficiency

Kwashiorkor in children.

(1) Carbohydrate

(2) Protein

(3) Protein and carbohydrate

(4) Vitamin C

(5) Question not attempted

causes
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40.

41.

42.
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(1) e 3R IRER Heamr g™
(2) Wi 3R w1 fasma mae™
(3) wHa wETYH s FeE
(4) e maTe
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40.

41.

42.

Pradhan Mantri Matru Vandana

Yojana was launched by which

ministry ?

(1) Ministry of Health
Family Welfare

(2) Ministry of Women & Child
Development

(3) Ministry of Human Resource
Development

(4) Ministry of Education

(5) Question not attempted

and

In List-I food items are given and
in List-II their adulterants are
given. Match List-I to List-II by
using codes :

List-I List-I1

A. Milk i. Kesari (Letheras
powder Sataivas)

- B. Vegetable ii. Dates seed

oil

C. Bengal iii. Dextrin
gram

D. Coffee iv. Argemone

A= BenCieD
(D) =i i iy ol
@)1 v -1 il
@) act v
(4): 31 v e
(5) Question not attempted

Food poisoning “Botulism” is

related to —

(1) Tinned meat (2) Dry fruits
(83) Milk Powder (4) Chesari Dal
(5) Question not attempted

The process of treatment of water
with lime and alum to defluoridate
it, is called

(1) Prashanti technique

(2) Chlorination technique

(3) Reverse Osmosis technique
(4) Nalgonda technique

(5) Question not attempted



43.

44,

45.

46.
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arfermrar” adieror gfRd 2
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(5) g e
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(3) el o ST RS BT 3TN

(4) ST % S T1ael 51 3941

(5) Tguid e
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T6Y o Th Higell R 33T 1 Tehel ATl
mﬁwwmz%

(1) 40 fper 9 10 fohett

(2) 45 et g 15 frelr

(3) 50 fereit 3 20 fopet

(4) 60 forert 9 30 fopett

(5) TTTRG ¥
foeifim &1 3o =t & weni & gk
i
fafm T & T
A. framie i, Thdl
B.ffmCc i fetwk |
C. URIRE i ¥ |
D.RfHA v, iRk 1
T I HT =TI HIfT ; |
Teie e e iy |
(1) 310 Ayt |
@) 4V | dodil o s |
(@) Al i ey
(@ el |
(5) g A |
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43.

44,

45.

46.

For nutritional status “Capillary
fragility test” is related to

(1) Vitamin ‘A’ deficiency

(2) Vitamin ‘B’ deficiency

(3) Vitamin ‘C’ deficiency

(4) Protein Energy Malnutrition
(6) Question not attempted

Which of the following rule of meal
planning you will follow to provide
nutritious low cost meal ?

(1) Use sugar instead of jaggery

(2) Use groundnut instead of
almonds

(3) Use dragon fruit instead of
banana

(4) Use rice instead of bajra

(6) Question not attempted

To reduce the danger of accidents,
the maximum load that can be
lifted by man and woman
respectively is —

(1) 40kgand 10 kg

(2) 45kgand 15 kg

(8) 50kg and 20 kg

(4) 60 kgand 30 kg

(6) Question not attempted

Match the vitamins with their
deficiency symptoms :

Vitamins Deficiency
Symptoms
A. Niacin 1. Scurvy

B. Vitamin C ii. Bitot’s Spot
C. Riboflavin iii. Pellagra
D. Vitamin A iv. Glossitis
Choose the correct answer :

A0 B GniiD
(G5 B P |
(2): v R v
@) il 1 sediyedy
D iv. 11 i
(5) Question not attempted
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48.

49.

50.

51.

47
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A THI HH AT R TEH § 7
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(5) AR Fe

% el % 99 9 R
TR T IGTET R |

A TREER

B. Y- 4R

C. WMIa™ s

D. dEHa us fafy

(1) A,BaC (2) $9@AdB
8) HI@BaC (4) B,CdID
(5) ST SR
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Fq¢ w9 gt W Tt I €, df 98
HEATIT 2

(1) 3remfifies dqer

(2) 3fu=TRe g

(3) =R HITH

(4) freeanfees dqem

(5) I A

B
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47.

48.

49.
!

50.

51.

Which of the following is a key

factor to consider when managing

space in study area ?

(1) Non-slippery floor

(2) Proximity to entertainment
device

(3) -Provision of good light and
ventilation

(4) . Large decorative items

(5) Question not attempted

Which of the following is called
heart of home management ?

(1) Organization process

(2) Decision making process

(3) Controlling

(4) Evaluation

(5) "Question not attempted

The National Consumer Disputes
Redressal Commission (NCDRC)
was setup in

(1) 1968 (2) 1988

3) 1952 (4) 1974

(5) Question not attempted

are the examples of pen
and pencil techniques of work
simplification :
A. Process Chart
B. Pathway Chart
C. "Stop watch technique
D. . Cycle graph method
(1) A, BandC
(2) A and B only
(3) B and C only
(4 B,CandD
(5) Question not attempted

When an arrangement has same
objects placed at same distance
from the center, it is called —

(1) “Asymmetrical balance
(2) Formal balance

(8) Informal balance

(4) Crystallographic balance
(5) Question not attempted
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56.
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I
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52.

53.

54.

55.

56.
delicate and flexible.

The colour scheme which uses
single colour with just its shades
and tints is called :

(1) Monochromatic colour scheme
(2) Analogous colour scheme

(3) Triad colour scheme

(4) Complementary colour scheme
(5) Question not attempted

In hot and dry areas to make the
house pleasant and healthy, the
area of windows should be at least
percent of the total area of
the room.

@)'8 @ 15

3 28 4) 35

(6) Question not attempted

Using plastic table mats instead of
linen table cloth is an example of
which class of change ?
(1) Changes in product
(2) Changes in equipment
(3) Changes in hand motion
(4) Changes in work
arrangement
(5) Question not attempted

Family trust is a
arrangement where :

(1) The management of funds and
properties is transferred to a
well qualified administrator.
Returns are paid to trustee.
Funds are kept in safekeeping
of beneficiary.
Principal values
reduces drastically.
Question not attempted

legal

@)
3

(4
®)

of funds

lines are attractive,
These are
symbols of happiness, liveliness
and prosperity.

(1) Curve (2) Horizontal
(3) Vertical (4) Diagonal
(5) Question not attempted
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57.

58.

59.

60.

61.

47

sl W gl feerirar it e | 57.
Uhum & 1T 9 o=@ vgat fora gfdemion
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(1) ama ShifE
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(3) SRS TSt
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Sl TElt St B, dr Swehl el et

1 3 g el 2, T HaT ST R

(1) e T Roeied
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(4) TR fore
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1) == @) =
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@ Fe- ;
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sﬁaqm?ﬂ@%aﬁﬁ»—qmﬁﬁmsml
HEI T8 ? |
(1) wwefEr (2 I=:feEr |
@) wgfaae (4 fgfem |
(5) Iigafd |
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Which approach can be used
earliest as primary prevention of
genetic disabilities in children ?

(1) Neonatal screening

(2) Family planning

(8) Genetic counselling

(4) Psychological testing
(5) Question not attempted

When a finger is placed below
baby’s toes, they curl their toes
around it, this is called

(1) Plantar grasp reflex

(2) Babinski reflex

(8) Step reflex

(4) Moro reflex

(5) © Question not attempted

National Institute of
Orthopaedically Handicapped is
situated at —

(1) Chennai (2) Mumbai

(3) Hyderabad (4) Kolkata
(5) Question not attempted

In ‘APGAR’ scale for neonate
measurements, ‘G’ stands for

(1) Gestures

(2) Grimace - reflex irritability
(3) Gain - weight

(4) Good appearance

(5) Question not attempted

Which form of marriage involves a
person having more than one
spouse simultaneously ?

(1) Monogamy (2) Endogamy
(3) Polygamy (4) Bigamy
(5) Question not attempted
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62.

63.

64.

65.

66.
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(3) TR 4) Hfgs wiew
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63.

62.

64.

‘Anorexia Nervosa’ and ‘Bulimia

Nervosa’ are related to

(1) Self image

(2) Eating disorder

(3) Speech disorder

(4) Genetic disorder

(56) Question not attempted

A type of marriage in which “a
women marries her deceased
husband’s brother” is called

(1) Levirate marriage

(2) Sororate marriage

(3) Cross cousin marriage

(4) Civil marriage

(5) Question not attempted

Cohabitation families means :

(1) Unwed couple live in the
same household.

(2) Single parent live
his/her child/children.

(83) Father and mother of
husband & wife live in the
same household.

(4) Husband and wife live in the
same household.

(5) Question not attempted

The total length of the filament
which is wrapped around the
cocoon made by a silkworm is
about X

(1) 100 feet to 400 feet

(2) 100 metre to 400 metre

(3) 1,000 feet to 4,000 feet

(4) 1,000 metre to 4,000 metre

(5) Question not attempted

“The Education of Man”, book was
written by

(1) Maria Montessori

(2) Giju Bhai

(3) Tara Bai

(4) Fredrick Froebel
(5) Question not attempted

with
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67.

68.

69.

70.

71.

72,

73.
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67.

68.

69.

70.

71.

Mercerizing finish is important for

clothes.
(1) Silk (2) Cotton
(3) Woolen (4) Nylon

(6) Question not attempted

Which of the following parts of
loom resembles a comb ?

(1) Reed (2) Shuttle

(3) Beam (4) Harness

(6) Question not attempted

By which measurement of upper
part of equiproportional body type,
all the measurements of upper
body can be identified ?

(1) Measurement of chest

(2) Measurement of neck

(3) Measurement of buttocks

(4) Measurement of shoulders

(6) Question not attempted

should be the primary
quality of the fabrics chosen for
upholstery.
(1) Beauty
(2) Strength
(8) Colour combination
(4) Easy to wash
(5) Question not attempted

The order of taking measurements
for Kurta should be —

Shoulder width

Chest

Waist length

Full length

Slololell

(1) A, B,C
(2)  B; A€
(3) B,A,D,
4) B,ACD,F,
(5) Question not attempted

clothes are best for babies.
(1) Velvet (2) Cotton
(3) Georgette (4) Silk
(5) Question not attempted

A V' shaped cut on the pattern
indicating position of darts and
seams is called

(1) Notch (2) Yoke

(3) Rip (4) Ease .
(5) Question not attempted
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74.

75.

76.

s

78.

79.

The compactness of fabric is
indicated by

(1) Fabric finish

(2) Fabric count

(3) Fabric width

(4) Fabric weight

(5) Question not attempted

In colours eoldest colour is

(1) Green (2) Blue
(3) Turquoise (4) Yellow
(5) Question not attempted

SITRA — Supply of Improved Tool
kits to Rural Artisans is a sub

program of —
(1) NREGA @) IRDP
3) EAS‘ (4) SGRY

(5) Question not attempted

Maximum  loan amount granted
under “Mahila Udyam Nidhi
Yojana” is —

(1) UptoZ 01 Lac
(2) Upto ¥ 20 Lac
(3) Upto% 10 Lac
(4) UptoZ 05 Lac
(5) Question not attempted

A business in which owners are

satisfied ‘with the existing mode
and refuse to make any
modifications inspite of mcurrmg
recurring losses is called

(1) Imitative Entrepreneurship
(2) Private Entrepreneurship

(3) Innovative Entrepreneurship
(4) Drone Entrepreneurship

(5) Question not attempted

Aab-E-Rawa (Flowing water), Waft

hawa (Woven air) and Shabnam
(evening .dew) etc are different
types of :

(1) Baluchar sarees

(2) Chanderi sarees

(3) Sarees of Dacca

(4) Muslin of Dacca

(5) Question not attempted
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80.

81.

- 82.

83.

84,

What is not good amongst the
following for administration ?

(1) Leadership

(2) To plan a large project

(3) Doing all the work alone

(4) Work for common goal

(5) Question not attempted

: is a decision to make full
use of an innovation as the best
course of action available.

(1) Perception (2) Diffusion
(3) Innovation (4) Adoption
(5) Question not attempted

Which of the following program of

Govt. of India improves coverage of

immunization in the country ?

(1) Pradhan Mantri Jan Dhan
~ Yojna

(2) Mission Indradhanush

(3) National Rural Health Mission

(4) Beti Bachao Beti Padhao Yojna

(6))

Question not attempted
In List-I nutrients are given and in
List-II enzymes are given which
are related to digestion of these

nutrients. Match List-I to List-IL
by using codes :

List-1 List-1I
A. Carbohydrate i. Lipase
B. Fat ii. Trypsin
C. Protein Gastric iii. Ptyalin
digestion
D. Protein Intestinal iv. Pepsin
digestion
A D
@Y i el v van
o o iorivecid
o REH RS R TR
B ive o

Question not attempted

Vﬂlage mapping, village transect,
seasonal calendars are techniques
of —

(1) Top to bottom (2) PLA

(3) RRA (4) PRA

(5) Question not attempted



85.

86.

87.

Frafafe & & o9 @1 = CIGEINED

itafda (GM) @ e S s d adi & 7

A, THEHT @TE 397G St GM BEE %1
I FF m;ﬁ g, 98 GM

B. GM mm wd sw@g & wf

C. Bt U™ I ¥WRd #1990 #

AT §9 Y T fora o7 |
D. GM w&di § S 3% ger fea
SR |

1) =ftadidl (2 FaaA, B, C
(3) $IABID (4) FHa@A, C,D
(5) TG w=A

TR A A F oER, e gwen
gﬁﬁ%ﬂﬁﬁ%%qﬁmﬁiﬁaﬁ@w
AETSH & ? i
¢h) 160%eﬁm@m1=mﬁfsq1%srﬁr;
a9

100 et @@= ufy safdy gfy
G

215 v @ wie s=fEy ufy
EL :

325 Tereiium @ren= wfy safey afy
T4

HAARG 997

(2
3)
(4)

®)

mmﬁa%mﬁﬁqm;m,

Y TEl TG 8 7
(1) w7t w1 BMR S &Y amer |
R g 2 | |
(2) wfEsi %1 BMR Tosieht ardan |
3fres BT R | ' |
Swsfesiy 2wl F o anﬁ[
i @ BMR Hﬁsﬁa’rwrl
qETM A FA BT R | |
BMR 3R % 3R 4 g=fRa 2 |
et s |

18

3

(4)
®)

85.

86.

Which of the following statements
are correct about G.M. (Genetically

Modified) foods ?

A.  Processed food products
produced by using GM crops
are not GM foods.

B. GM foods are climate
resilient. '

C. Bt cotton was commercialized
in India in 1990.

D. GM crops have deleted gene
sequence. '

Choose the correct option :

(1) All are correct.

(2) OnlyA, B, C

(3) OnlyBand D

(4) OnlyA,C,D

(5) Question not attempted

Which of the following is required
to ensure food security, according
to National Nutrition Policy ?

(1) 160 kg of food
person per year

100 kg of food
person per year

215 kg of food
person per year

325 kg of food
person per year

grain per

2) grain per

(3) grain per

4) grain per

(5) Question not attempted

Which statement is not correct

about basal metabolic rates ?

(1) BMR of children is higher as
compared to adults.

(2) BMR of female is higher as
compared to male.

(30 BMR of person belongs to

tropical countries is lower as

compared to person belongs to

temperate countries.

BMR is related to body size.

Question not attempted

(4)
6
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88.

89.

90.

Two formula diets F-75 and F-100
are used for severely malnourished
children. This diet is

A.
B. High in protein
C. Lowin fat

D.
(1)
(2
3
(4)
(5)
According to Jean  Piaget’s
cognitive  development theory,

development of child has
number of stages.

(1) 2 (2) 4
3) 6 4 3
(5) Question not attempted

High in carbohydrate

Low in Sodium
A, B and C only
A, C and D only
A B, CandD
B, C and D only

Question not attempted

Balwadi nutrition program are run
under

(1) Indian Council for
Welfare

Voluntary Health Association
of India

Indian Red Cross Society
Central Social Welfare Board
Question not attempted

Social
(2

3)
4
®)

Under which ministry Vitamin A
Prophylaxis program is running ?
(1) Ministry of Social Welfare
(2) Ministry of Women and Child
Development
(8) Ministry of Health & Family
Welfare
(4) Ministry of Home Affairs
(5) Question not attempted
o
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92.

93.

94,

95.

96.

India was the first country in the
world to have launched a National
Programme for family planning in
(1) 1947 (2) 1952

(3) 1954 (4) 1960

(5) Question not attempted

method is the most
successful approach of child
rearing with high acceptance and
involvement of parents.
(1) Authoritative
(2) Authoritarian
(3) Permissive
(4) Uninvolved
(5) Question not attempted

Which statement is not correct

about a one child family ?

(1) Feeling too much pressure
from parents to succeed.

(2) Having more privacy.

(3) Having a closer parent-child
relationship

@)

(5)

Worry about

favorites” by parents

Question not attempted
When divorced parents enter new
relationships through cohabitation
or remarriage, this type of family is
known as
(1) Extended family
(2) Joint family
(3) Blended family
(4) Nuclear family
(5) Question not attempted

“Playing

The condition associated with the
absence of alternative roles to re-
establish the parental identity when
their adult children leave home
(1) Stress and Storm
(2) Anxiety syndrome
(3) Empty nest syndrome
(4) Depression
(5) Question not attempted
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97.

98.

99.

100.

. Elevators,

To minimize movements during

work, the best design of a kitchen

is considered to be

(1) L shaped placement of sink,
counter & equipment.

(2) O shaped placement of sink,

counter & equipment.

U shaped placement of sink,

counter & equipment.

Sink, counter & equipment

placed in straight line.

Question not attempted

3
4
®)

Chroma of colour means

(1) Brightness and dullness
(2) Light and dark

(8) Cold colours

(4) Hot colours

(5) Question not attempted

Which type of lighting should be
used for study room ?

(1) Diffused lighting

(2) Concealed lighting

(3) Spot lighting

(4) Angular lighting

(5) Question not attempted

The recommended height of the
work surface, when the worker is

standing is inches from the
floor to the sink.

(1) 26% 2 30

(3) 32% (4 28

(5) Question not attempted

Escalators and stairs
are measures of

(1) Vertical orientation

(2) Vertical circulation

(3) Horizontal orientation

(4) Diagonal orientation

(5) Question not attempted
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102.

103.

104.

105.

Untwisted silk thread ‘Pat’ is used
in which traditional embroidery of
India ?

(1) Kasuti (2) Phulkari
(3) Kantha (4) Chikankari
() Question not attempted

is a French word meaning
“workshop” or “Studio” often used
to describe a fashion designer’s

workspace.

(1) Bespoke

(2) Atelier

(8) Silhouette

(4) Haute Couture

(5) Question not attempted
Acid dyes are not useful for
fabric.

(1) Wool (2) Silk

(3) Cotton (4) Worsted

(5) Question not attempted

Which one is not done by fashion

forecaster ?

(1) Analyze
trends.

Decide which fashion will
work from new designs.

Selecting market segment for
successful product launch.

Making garment specification
sheet.

Question not attempted

current successful

@)
3)
(4)
®)

The overall efficiency with which
muscle converts chemical energy to
muscle work is about

(1) 20% (2) 80%
3) 60% (4) 40%
(5) Question not attempted
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107.

108.

109.

110.

111.

‘Haute Couture’ - a French term 1s
used for

(1) Designer

(2) Style

(3) High fashion

(4) Dress making

(5) Question not attempted

allows the editing of
shades of colours on the printers
and makes a calibration according
to the original colour and colour on
the screen.
IRON CAD
Rhino 3D
COLOUR TEX
(4) PRISM
(5) Question not attempted

Communication carried out during
co-curricular activity like assembly
is an example of which type of
communication situation ?

(1) Small group communication
(2) Large group communication
(3) Mass communication

(4) Organizational communication
(5) Question not attempted

In the concept attainment model,
what does ‘syntax’ refer to ?

(1) Speed of teaching

(2) Sequence of activities

(3) Types of assessment

(4) Number of examples

(5) Question not attempted

Which activity is done m ‘Analysis

of the inquiry process in inquiry

training model ?

(1) Develop more effective strategy

(2) Students generate hypotheses

(8) Presentation of labelled
examples

(4) Formulating an explanation

(5) Question not attempted

2. Which looms ‘are  specifically
designed to produce tubular fabrics ?
(1) Air jet looms

(2) Water jet looms

(3) Circular looms

(4) Rapier looms

(5) Question not attempted
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113.

114.

115.

In cooperative learning ‘Positive
interdependence’ means
(1)

Students compete with each
other

All students
individually

(2) do the task

3

Students of group co-operate
to complete the task

Each student is responsible
for mastery of content.

4)

®)

Question not attempted

Which of the following is not a
hardware component of computers ?
(1) Monitor (2) Graphics
(3) Printer (4) Mouse

(6) Question not attempted

With regards to use of technologies
for teaching-learning framework in
which knowledge is constructed
through online peer interaction is
called

(1) Personal learning network.

(2) Immersive virtual learning
environment.

(3) Learning management
system. :

(4) Affinity groups.

(6) Question not attempted

Which is the most effective

learning experience in the Edgar
Dale’s ‘Cone of experience’ ?

(1) Experience through visual
symbols
(2) Real direct experience
 (3) Experience through Radio-
tape
(4) Experience through  still
pictures
(5) Question not attempted
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118. A

117. Which mode of Computer Assisted

Learning (CAL) provides
explanatory material followed by
questions and gives feedback based
on answers ?

(1)
(2) Discovery

(8) Tutorial

(4) Drill and Practice

(5) Question not attempted

Simulation

student who often feels
discouraged in traditional lecture-
based classes but now using a
computer assisted learning
programme. What feature of
computer assisted learning is most
likely helping the student to stay
motivated and engaged ?

(1) Limited content and slow
pace

(2) One-way communication with
no-feedback

(3) Constant monitoring and
strict evaluation

(4) Interactive feedback and

learner-paced progress.
(5) Question not attempted

9. What is the role of feedback in the
system approach ?

(1)
2
3
4)
(6))

To start the process

To evaluate the result

To modify input or processes
To finalize the output

Question not attempted
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121.

122.

123.

Eminent pioneers in Home Science
in India are

A. Dr. Rajamal P. DevDass
B. Dr. Flemmie P. Kettrell
C. Dr. Leela Shah

D. Ms. Dorothy Pearson

1) A, CandD

(2) A,BandD

3 A B,CandD

(4) Only AandD

(5) Question not attempted

was the first institute to

introduce Home Science as a
degree programme at college level.
(1) Lady Irwin College, Delhi
(2) Princely State Vadodara
(3) Women’s Chrlstlan College,

Chennai
(4) Agricultural
Allahabad

Question not attempted -

Institute of

®)

was one of the first city to
start Home Science in Secondary
School.

(1) Jaipur (2) Udaipur

(3) Vadodara (4) Gwalior

(5) Question not attempted

Which of the following skill is not
related to Home Science ?

(1) Interior decoration

(2) Embroidery

(3) Meal Planning

(4) Electric services

(5) Question not attempted

. “Home Science Association of

India” was formed in
(1) 1951 (2) 1945
(3) 1932 (4) 1935

(5) Question not attempted
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126.

127.

128.

129.

130.

Which of the following food group
provides Vitamin C ?

ey
@
3)
4
®)

Main protein present in milk is

(1) Peptone (2) Gelatin

(8) Casein (4) Scleroprotein
(5) Question not attempted

Cereals

Pulses

Milk, meat and fish
Fruits and vegetables
Question not attempted

Other name of Vitamin B, is

(1)
@
3
(4)
(6)

Niacin

Cynocobalamine
Thiamine

Riboflavin

Question not attempted

Lysine amino acid is majorly found
in

(1) Pulses (2) Grains

(38) Fruits (4) Sugar

(5) Question not attempted

Tip of the food pyramid is occupied
by

(1) Milk (2) Rice

(3) Nuts (4) Sugar

(5) Question not attempted

Protein is derived from Greek
language word ‘Protious’ which
means : :
(1) Most important
(2) To get first position
(3) Nitrogen based substance
(4) Amino acid
(5) Question not attempted
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132.

133.

134.

Which of the following method is a
combination of moist heat method
and dry heat method of cooking
food ?

(1) Braising (2) Broiling

(3) Blanching (4) Baking

(6) Question not attempted

Match List-I with List-II by using
codes :

List-I List-IT
A. Vegetable i. Lysin
protein
B. Animal 1. Casein
protein

C. Carbohydrate iii. Tri Glycerides

D. Fat iv. Glycogen

A TR T SN
CL). A 1 e By ).,
() S SN R Ll
(8) - = il Ay
@) iv di one e

(5) Question not attempted

Which of the following is a source
of linolenic acid ?

(1) Groundnut oil

(2) Sunflower oil

(3) Sesame oil

(4) Safflower oil

(5) Question not attempted

‘Green leafy

included in

(1) Energy rich foods

(2) Protective foods

(38) Fat based foods

(4) Body building foods

(5) Question not attempted

vegetables
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135. Match the following carbohydrates
with their sources :

A. Sucrose i. Honey

B. Fructose ii. Grains

C. Starch ii. Milk

D. Lactose iv. Beet root
AR CisaD |

(D cis aatis il siv

(D)t A v

(3) v vduisiil Al

@) dv o ani ol

(5) Question not attempted

136. Which of the following resources is
a non-human resource ?

(1) Aptitude (2) Skill
(8) Space (4) Knowledge
(5) Question not attempted

137. Which of the following is a real

income ?

(1) Retirement income

(2) Interest

(3) Rent

(4) Kitchen garden

(5) Question not attempted
138. In List-I cooking methods are given
and in List-IT name of recipe based
on these methods are given. Match
them by using codes :

List-I List-I1
A. Direct method of i. Cuttlets
steaming
B. Indirect method of ii. Baat1
steaming :
C. Baking ii. Idli
D. Shallow fat frymg iv. Pudding
A TBeeG i D)
(D) 1= naoan av
(@)1 u vy H
3 mE 1 i iv
(4 i iv i i

(5) Question not attempted
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139.

140.

141.

In general, what percentage of
expenditure is allocated to education
in managing family income ?

(1)
(3)
(5)

5% (2) 10%
15% (4) 20%
Question not attempted

Which statement is not correct
about resources ?

(1)
(2)
3)
“@
(®)

All resources are useful.

All resources are unlimited.
All resources are interrelated.
Resources can be substituted.
Question not attempted

Which one of the following is the
correct statement ?

(1)
(2)
3

(@)

142,

143.

(6)

Goals are the measure of values.
Standard is a measure of goals.
Goals grow out of our values,
needs and desires.

Standard is a moral principle.
Question not attempted

Example of direct family income is
(1) Satisfaction

(2) House on rent

(3) Interest on loan

(4) Free bus services

(5) Question not attempted

Arrange the following steps of budget
making in a sequential order :

A. Estimate total expected income
B. Check plans/Evaluate

C. Listing commodities

- D. Estimate the cost

E. Bring expected income and
expenditure into balance

Choose the correct answer :

(1):'C,A, D,B.E

(2 A E, B o

(3) D, B A

(4) B,D,E

(5) uestion not attempted

C, D,
C, E,
C, A,
Q
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145.

146.

147.

148.

i 149.

(3)

Which type of bank account does
not provide interest on depositing
amount ?

(1) Saving account

(2) Current account

(8) Fixed term account

(4) Recurring account

(5) Question not attempted

Which of the following investment
schemes has highest liquidity ?

(1) Debentures

(2) Gold

(3) PPF

(4) Life insurance

(5) Question not attempted

Which statement is not correct

about shares ?

(1) Shares have maturity date.

(2) Return is in the form of profit
or dividend.

(3) Shares have more risk.

(4) Investor has active role.

(5) Question not attempted

Basket weave is also known as

(1) Sateen weave

(2) Hopsack weave

(3) Weft rib weave

(4) Warp rib weave

(5) Question not attempted

Which man-made fibre is similar to
wool ?

(1) Nylon

(2) Rayon

(3) Acrylic

(4) Polypropylene

(5) Question not attempted

Which of the following is a seam
within seam ?

(1) French seam

(2) Lapped seam

(38) Flat felled seam

(4) Channel seam

(5) Question not attempted

0. Which budget is always beneficial

for the family ?

(1) Balanced Budget

(2) Surplus Budget

Deficit Budget
Emergency Budget
Question not attempted

(4)
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